

CONTOH

$$4 + 5 = 9$$

$$4 + (-5) = (-1)$$

$$(-4) + 5 = 1$$

$$(-4) + (-5) = (-9)$$

$$4 - 5 = (-1)$$

$$4 - (-5) = 9$$

$$(-4) - 5 = (-9)$$

$$(-4) - (-5) = 1$$

CONTOH

$$4 + 5 = 9$$

$$4 - (-5) = 9$$

$$(-4) + 5 = 1$$

$$(-4) - (-5) = 1$$

$$4 - 5 = (-1)$$

$$4 + (-5) = (-1)$$

$$(-4) - 5 = (-9)$$

$$(-4) + (-5) = (-9)$$

LATIHAN

$$6 + 7 = \dots$$

$$6 - (-7) = \dots$$

$$(-6) + 7 = \dots$$

$$(-6) - (-7) = \dots$$

$$6 - 7 = \dots$$

$$6 + (-7) = \dots$$

$$(-6) - 7 = \dots$$

$$(-6) + (-7) = \dots$$